
 

QuickHaariew
Notation i Sn s.yu.lu N 2isaYktYm zn i

t Sky Haar
transfrne

Sn Sn r dn i
r rp

legthN legth M

Sn a feud

dnt detail

Sm Ek
snare 1 Siddhu

nGBtSnC2ktD

da i KI i Sn Ek
SnGlatt SIZED Sn It

SnGES Sn52ktB

Corresponds
to caffs in new

Hearbasis

by Eek teach
h Czk e 2kt

A At



Could couture tramhn Sn i sua du z

Today Inhale some new
waelets

Wavelet synd
teal Expected

detail srrprisgl.infoy

Haari any dye is surprisz expect
constant

M.ae yiweczhtedavyelDaob4
Azydtditf pts

CDF 2,27

use amy
Eatodd range atomadypts

a g t seq
afpts

before

CDFC2 2

X X 03 XEN D N 2M

X even Rodd



deai predict
XCZktB xczk.tl 2ktD

2

To makethis
make sense we'll assure x is periodic

Procedore predict g
plate gnomube

t

dad xlzktif tzfxewuadtskeufkDXCzktDtzfxewltdtxeufki.it

XC2ktD xGkJtxE2ktD

SEKI XenulkTt dad tdfk D

2K t E2ktB texting 1
2 23

the E2k if xC2k 2 1 524

34 1211 t x 2KAttyxf2ktB tgxE2k I
txE2kt2



12 surprise is when
rate at 2k is

notall reflected by
adjacentvibes

butis well reflected at
a Arthdoke

less so

We've deserted
amath implicitly

x fsa Nx N matry Ta
analysis

nurse
math Ts sythesis

Remote if T is any
Inn transformation

can thinkof it as
a chgeofbasis from

standnd

ei to new basis bi

How togetbi's



T TefTefTef Ten

Tv
nf means u f

u E tibi

T
t

charge of basis
from Li's te ee's

and so as above
columns f T ane bits

written interns f thebasis ei's

If Tis any iurtible
mate what we wantto

thinkof as a charge of basis from ei bi

then we can express
bi's in terms of our ayy

basis as thecolumns of T
l



for CDF 2 2 ne bae

Ta D U ps

in

a

Ts 1 tf Is f l step

we can inputthis



Isaf
Ea

multiscale
transfers

CDF 2,2

x
a

a

i


